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QUESTION 1

What are two advantages of using containers? (Choose two.)

A. Containers can be easily deployed using an ovf format.

B. ontainers are easily deployable.

C. Containers reduce networking complexity.

D. Containers Include all necessary executables, binary code, libraries, and configuration files.

Correct Answer: AB

QUESTION 2

What are three global efficiencies for NetApp Element software? (Choose three.)
A. compaction

B. compression

C. deduplication

D. thin provisioning

E. Inline zero detection

Correct Answer: BDE

QUESTION 3

You are currently performing all the important administrator and maintenance tasks for your system, and need to
delegate work to the staff so that you can attend to other Issues. Which approach will you take to ensure that your

systems are safe?

A. Employ mandatory integrity control.

B. Employ the principle of least privilege.

C. Provide all users with power user access.
D. Provide all users with administrator access.

Correct Answer: C

QUESTION 4

What are two Type 1 hypervisors? (Choose two.)
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A. VMware ESXI

B. Oracle VM VirtualBox

C. VMware Workstation

D. Microsoft Hyper-V

Correct Answer: AD

https://medium.com/teamresellerclub/type-1-and-type-2-hypervisors-what- makes-them-different-6al755d6ae2c#:~:text

=Type%201%20Hypervisor¥%3Aandtext=A%20few%20examples%200f%20Type,known%20t0%20be%20very%20secur
e.

QUESTION 5

You are setting up a new StorageGRID environment.

In this scenario, which two nodes would you deploy? (Choose two.)
A. storage node

B. admin node

C. management node

D. cluster node

Correct Answer: BD
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